FE 4 FLLF

2127 #5480 €84
- R4 &
- B4
- BB
- 55814

ot od5 &
- FH B)% ef i)
- Z oA 8% R
IR k44

_ jf@)s@_/?\z@ ’49\% " WRE 2 <h&T TRAS

I={o 2 -.. 3 - AR®EYE
o AR FE jeT A ML T aS BF ] FE

d
4;@ p£meeo st POy S o

(P (aid=1l, B2 (5.5)=0 (M) 3 ) . X8
o aegse MR E|E T G
O X T sy GO
(E&EY) 22 ) Y

HERBIETF11 1/10



Lem

A—a, ok BL A— B (T4 ) P

T (GaEE|E qEd o RAEE &)
a) XA 42 - ae—a
) WAAE T A ey = > <= A

(>) %(@,%%M%L: W €9 Jeo B = 44K

M_ %/é B« T f BRAN) Civvedueible )
d .
<.:f_f> “13eB A he—) THET
e T T MAMm) A BRE TS
Yazi2) £480 Rl 245 5

D_eﬁ‘ /{%é Bc T N FJ?"(:‘ -3 (C{oSco()
S &R Yies pri(
Ay By (BARSIERG hTHY)

e ([QEAD &)

T=tL13 %)

”):.: | [ © v o |
2 o / o
3 o [ o
4l r9 ¥ S

(Prirrase], par>0)

FERHIETF1



(
HKFE 1e T oM 2 % o ]
——  de :
[a :£ IM(@ f’VlZlJXn:a}
40 Vmz o Yok i H5 Ty o © 53

FliEAm 2

Dot (9% ) y
L BB = i) (XhrasedlEz<d)

o‘ —
A AR B i @ﬁ fG.ar< | (EzxFont K 'ﬁ—“u)
=

N3 = 227 B A B Z) =l T FETRNS DA

9i) = P(Hi= ool X, =3 ) (=P R $HUIFESE )
Thw

AN BB = 9(Ga)= |
A e FF @T\’?F i <= 9G.a) = O //

% 90 om 2 dbfl) ey

FEREFET 1 3/10



U |
%0%')519% %'l ")Z‘-}i_‘l: 7—2 ) /{]__B:l: £ %% ’i/DXLf’_‘)

PNz [%=0)
—Z, Pz | =k, %210 P(Tt|4)
9%‘;1'&2“/7%1
‘/\(:5']2{__

= F<N2"(T 'E) P(fn Yo:é>

(: f‘(ﬂrbm[i DA R 24w w2
%m V/J) zﬁ'(\r—'*\zzu)

= E POz )= 2D PO £l02 )
(3% f< B3] 0 L hz A3 To1e LR AR I92"
Nagbd-tz 1o2iBRED )

= PNz [Xe=4) Z P(Tizt|X.=3)

W
1

P(Ta<oo | ¥om3) = £6,4)
P(Nsz 21 |Ko=n) 4(3,4)

I

I

P(N>z 0 | X=4) LG HGR) = L6 60

— I
T

C2 . 9rae(l. Moas T ERE

(5a)= fom P(Nyzn(X=a) =

h— oo

[ 0 ({Ga<i)
I (#4.0=1)

J

PR EIET 511 10



The AR BWFE) < TPW(ii) = 0

&2_:}\\ Xo= 7 acZ
Zh J;__.cl [ / (anh)
O (Kn"hl\)

LB W=z, vA3 e HETE (arTsmbir)
—at.
E[Z2.Y=2] = 2 El2%zi] =2 poin )
— BT T O (g et B 2TET
E[éan (%=1 = E[N:IY.ma= E[

1 Nz )X ]

fe=(
= PNz (=4
=27 £(0)F

=

B2 A BFH < {Ga)=] & EPPGL)= o %

HERBIETF11 5/10



B (580 7)
i 9 | B0 WAl 275 LR THEE P
'[-\4 | B0 T L C-p =4

e S S R W —
o

[)()_VH")(QIO) — O

. [ o
PO ()= 1) Prgt = S P

by hA &) wlzLma™™e™  fop

"
PCM«)(O )= CLJ;%‘? e 4P <] T
P=%=+ acEq¥f

—_—

2

o= Woz WFTAS

%:; PO (00) = oo — BIE i

() p4facZ
V\Z‘:'F(lm(ﬂ,o)<oo —P 5’%.@»’)%6@

Z
Bt mathsbo 7 7o 0wl (FAvkie @)
3= LB AE B)E D

BB 511 °/10



- pA4AH ¢« B ld
Lew ) 4K FE LA BB > 45 b5 L B 90
() BT PACT SEA 20 BB IKE » Tt D
[
roe -

——

() #% 4G.0= T (&6 3— )
2R Hu)@ B oz L(ad)=l 7233
A Y E) BT Amas, b ae =) RIFE B a2
PCa.a) Pli pe) - P(aka,3) > ©
Y23 A aphaAE), éhaxAzfix%%ﬁ‘M%f?E
3t
0= |- Fa)z= P(had -~ Pl 3)( - £5.4))

= LGy =l 22H3
LCEH) a2 ) T35
qEC Fd move aHECZL
PO (23020, PO (40)> o
. >
% 1O (as) T 2 PU o) PGNP

= PM(3,4) (éf’c“ﬁ’(a.n')) PeG3)

= X

£k B ) 4

HERBIETF11 7/10



) prareh oAb Briah . AT B <

Mo R oSERE) . 7y el BIFL

k7 ANREIRLTESF)
o= = E[Ni|X=3]=ELGN:[¥.75]

-~ aéA

&3 N A B\lc2zwd By  BrAgs = IREY. 14
‘620, = N:=0 “hs922. BTE BB Y

€A
/ﬂ_W_ é/{@ /A\ ﬁ"/ﬁ?@?: W‘Lﬁf’a ) I%ﬂ fF? /'tdvéuy 9];‘\“ 5{3 3
B8 > %3
M Lewa@ ) A= FV& G KT F et Low

Arh3 ke i gy Aw BT Yief v
A ThY Al BI&h o Len) &) 5% Bl Bé\/
Th (R BALOILTE )
R~ 02 AR 2B =453 \RFE 2 2 B SHA
Az R BIF AN WFhAZHD, y

(7 Lew ) &). G EBH )
L BE bk BEA AR ol F = 7591k H

HERBIETF11 8/10



T (BEAA BB A9 AR )
T={reT |?) el 2 a—) Bowo—ba | RS

13 ¢ GR4- fa\ %6’9

I RIURZ\/"‘“ CK““Rb"yé Y

N2z 2 2 A Re lF Eﬁﬁ‘/aasom

cil, TRAREI Rz RAEBIEH e

ﬁ"’;&: AeT-T ¢ 22 2, C'CP\)Zféf/\—aéJ v

AETE) 4K a— ) B35 EELL AT A3,

%) Y1el@G) 1 > 7H3

F2 Yglece) it bera, Lesi zEFo. Bl
2255 thbS CG) #EESS .

Toh. G ig B vBIc by T tTes jecl)e e,
%3 Rel kydly, 1> RZTHICHIT . A7) 3 ek
A= Ly, ReCQ) 283 7). Q)
BEE) . CG) @& BRAh s R

oy B reI-T it BRSO m Bk dh el =

A Elzad. 2L FloselTrE B CG) be. C)nCUI$
T HB{hs reo )t RIE>02 ((V=cQ) 253

£2. T=T=Rvko~-- /ﬁ@"]?‘i?\
e LINATRGS/S ke A ARtz Rek BTt

HERBIETF11 9/10



[P

R,

Ra

Es

R

T_”

_ Rl Rz R} - RN;T - l —[
W{ j ”)“: lﬂh [
P C) { ) 'ﬂ{ J
R | 0 w40
K } _&’___HQN e
O H>N : K X - ¥ phJ
0 G, @ -0yl sd

X T 3H 5%(%]?//5 (dissi meu/e, Po;wf) v oF
T Moth RAF) VieT s 9E AU 14

FERHIBTF11

(Ape BYROh 6D a— ) =B £ j— AT
ART k3 )

10/10



